415%

[.(1) K= w"%éi[jﬁ%‘bvfx cosze LR X 0> 0:0>% 3T

’ Bl w
J" o 14 ’(10( j 1/ + M’& l ’6 '/9 ja w5 /o o
= ]_9

n‘- J: Lex? 0{)( -? //

[.(2) YT ASS B3I NABI- mmmgﬁ RI2INEY,

1£A£9. 04B%9
t_a-00d4% SHNYILLESH).

$En(= A= fL‘LDiULMﬁi%é;
T3S B3 A" 90 A& T A0 BAfTA.

123500 =9x 500 KA Nz 3.
[39B3 =9 x/500+ B3

35 B3 ALK THI hmrrd E3A 0 HARINEA P,
03X 13X 25X - 63=9xT--0, — B=6
VoA B=6 7

K RGN BOEA IR CH AL
AN It 90 1% B A0S, (B 20 i8)

|.(3) 544 %7577, ,,_yﬂ“’ (%)
ft) 2— x5 Kt 5in X+ Y = — (- sip.'x)+sfhx+$’zf | /

= S X + St X— V4 = (six+ )4 V=g /s six
| £ sl £ |40, 0 R B R H3 00 ) BAE BT i

e g n )




Y Y

| @FAER 1)L H0=311T) L 23, 1 by 999X 2485 173,
Che AL ETS A5,
f(x)"f’jIth{V(f_)o(t =302 7%+3
ol X \1/
Ji{f()()‘f/ a(f)dt}: G«{— (-.. ?_({)13,&_‘0/&))
{

g4 100+ Gty - G(,)B (X2

1E04900=6x2  (ByiprrnEgr) . (% Co=Fw)
170x) + 3% ) = 642
(3%41) 1) =2 (3x+1)
fog=2 (" XZo0 3x¢(Z])
Ton=2%+( (C$45288)

A EFHONIA R RNT = PSRN C RS FELATS.
0eC# [ Sty = 2me Co 37 = 2we o003

= 34 2K+4C-3 -+ (=323 -+ C=6
o’t{q):zx+6/

l.(‘i)‘fvm‘fréﬂﬁiiféliﬁ‘célfzmbm% g :
X3 (XE-3) e | mO3) 4% (XE-3
0={x143% (sex) T oadf-t Caex)

S0 A 793 AT For TS,

2 12 s
X=-36: 7/
A

: % |
~% ¢k 200) 0t ol ) =k AR (0 L 57575,
SRV 0k 2

/Ifzé;zgo




mEnt

[.(6) J6.1-43< L L 57573,
/-’LME(QMZ)\z - J.Q—’bl(xﬂl: i—*l——y:tc(’”’}[//(a.el
X X

_ L Sge O
B J‘Je?. X

LR EY BUfa R L1005 s : 1
(' S (ZX"Q — { e(x‘f’) _
&“’ 1 ~ Tzer 45‘3 K Tl

-— (4 21)2_(.;('-)2—»(

na€
— J({"‘ "1‘31(2%(2) =

X0 X —X Z

[,(1) 4700 AR IAN ) 4 5 543
Q=+ = 2= |= R = (3-1)*= X

439 o0 =)t (X2 ]) 1) Alknt
533120 L5 AED,

UR+] = (K-1)* = x41 =X29x+ )

> JX = X% > X = KE e x®

= X X% XY = 0 = X (03X 3x-1)-X XY = 0

= X{O-1)=XU-D)Y=0 > X () [t Ky=0

= KK (X3x+0)=0
X=0, | LAFLARB 4, X3X1]~0 NATOV A | 24" RASJF L43,

y= 5LV

7
20 ST L | v M X=(5-F)2 L 4L | [RFE %S,
...9(;(3‘!‘\5‘)/2 /

A, A RAUL L CRR T BB C T b !
%E/’ﬂ U’Lr\ﬁﬁf’%_z LRENE PTE FW S 3"
T35




mY1He

[.(§) 15551 LL1L#AS.
(1) X=4731 §42-W=0 LAZHT (X,5.2,W) =(%4,0,00) )] $8 97/,
(i)X<3 v~ =34 HRB o #4<2 10F0) bfw;

b 2 W
oE=F——. I
= )

ic_/—-i i
0 |

3 —— 0 0

22Ut 3ER A5 A4S,

D &2 ﬂ‘“iumwu—i, 1217,

@) 443eW= NV Lh<L 20 TP 0L 25N LA3,

@) L(O“zzév)l 2713 20 B WA 05 25NV -2 LH3,
JHbS. &1 1495 2(W) b 4 N=2:+] 48 2713,
ISA% AR 30)17,/*07‘(‘5;14;')‘1, o) ¥ 51 TS

%(N ﬁdl)-Z(&-M) Z(Q—z) 4+£(</-z) lf+z,3__i‘
—/o

ZHHIHTIBN 1 524 S 1PR <A LS.
(?H)X=2{&$Vl 442eW=6 I L' H) Ze:(7,2)=7+7,6 61 . 7¢

1848, -
) ’;;l %ﬂ\—\o » =1 : Z>(/ 0-1)=[p+/p.9 - '7 =355
(V) X:O w AW ’l s B ' b ’3

9 %, }%Q} i)=(3+413 2'T=7/

WEELTNSY  |+0042845547 ) = 85 1434 4804586 H 70 #5175 8,

>< Xl 1545647414 % ff,{zﬂ twHr=hiCr)
¢ Al A AL GE1T,

3H3='5CS=/O )3H6=?CG:1C1228\ 5”7‘!: C‘]:l-CZ,‘sg;
sHu =14 Ca=14C,=9|



- myns

7.3 XNER(0 1154 5AEAT,1 A4 L axt=eX0) B3 TE RN g B =~1)1
13193,
(i)a20N 1t
D154 AN B, AXE 0L e NINT AR L7310,
V. 0L0 13 RI3L PR gk 018,
(i) o> 001155 TXE 0N Fi LS N
X O NE LMK fo=¢eX_ax* 7% 7,
T0NF R Bz 1 ()= eX20X (1LY XE 0N $3 13T 10 > 0L 723343
F) L XE0N e < 11 B ALEFh 143,
T x>0 $F FER. L E) - X L7553,

jt%'((x) ‘:’J(I_&q(@x—qu) = O—OO =—X)

VL OAEL A E B Rt 3<TILROE5 (L3,
| X|-09]---]0 '

Wi
I;fx) + |+ |+ OIﬁ‘X
@ 5N A

THE) XE0NF IR (Lh1T {60=0 1S ax=e* YL SX A1 {1541 3,
OO0 TESH EUSR KPR RSy A< g 97118,
(ii1) 07001184 7 "X> 00 7518

K00 FEIB (=0 1, X co* LF 1 mAL METIn T, x ra
Hs (AN, S eax" 09570 1443 LREC 20 f0) |

XEAE+ X=X L&,
2D E =W ULLIN A BETS,
efe= o . [@) Dpg =[O Jyuy, oer %= 20
PRl ht 1A e X =2 a=L% LIS, ‘
W hE) 0= UHht X >0N4518 - 23 ax’=eX0) FELRENTRER 1.
TR LTE3, 35 07 & ThR h3 £lebnt ax = 4 hh L JAFE
ant> CCUIA Pk
e (C"-0) = [, (Y&~ =00(20-0) = og

«#']%U@%éé!:?\hméﬂ“ax%@;ﬁ!;;xpﬁ ax*z Xt
12, 10>% 1“&244{' X >0 0§73~ hIS o XP= e*0) T LN LA IE
IO UES, A<N155 X >0nFEt8<hif3 ox"=e N 7 i ff /)

o] B A

EF0Mm s,




Ryt
2.C2)m#E(0) N(l!l)i)’iiia( Y384 axt=e N £ 32K Rk
19 I (R LLRAES (< 3.

A<0 - 018 (o))

0<a<% A (' (u (rr()
=¢%---118 ( ;

€/$‘<0( ot 0 w ) Vi
1.(KERL PR'E ) , =1, 40*=0
AL ax'= = ZA5 73 0= QRS 1k 20 70T K=01%
0 XM= e* /) % LRALSE),
221209757
9= L7/t | g0
413, axt=e 0 PhLitfHhs Y, z‘.;zm/,z,? L3,
Fo R X FATAL> L7NTLT 77 300 KL A S E N ELE,

Yot SAb AR (251K 2L &.z’;mﬁxmtitiii?;
9 A

/;L 0777 EF8<Tn g
| X tELE kﬁ“‘y,ﬁ—a
"W
A T 92% 210403,
7 X

K= miyﬂLPﬂ;h/«L Nt RRt AR 2R



1%

3.(')%9\%32%%32&%/»1‘uumitﬂ%ﬂﬁmmm

Fw’«hﬂ"f(xf%‘) fory=sh(A%)

WY APESS S

(in=10ihhr=-inef 93, |
a1 = A = heos A =Xsin(O¥+5) (2 cin(pe2)=
X I 2 S om(6+7) r059)

) 170 _ L
e pe e
VNG Y |
(=4 Ni54 SENEI- % 55 A 5 7 3MRZ D3,

Zol’_:;( o0 =Akf(9(+ %) = K Sn {A(X-&%)}
:Mﬁ#nh =4«4M)Zf,% 7158 5% 43,
yraaki 5;,(? zﬁ%ﬁw} = ;,'%P\ksfh [A(’( +f7f )ﬂ
— Ak. A CoS {9\(9(1%?—)} = /’\k+'5/h {A(’H ;%) +Z‘Z\}
Wl b(xﬂe;} 4 )} = s, ZA (re el ;()}
=\t (9(+ fzij\-'x)

Ly n=fen 134t 589 P53,
ko) (i), (i7) ¥y ER W BRIL L AL 5 2
[ b g) A ¥ BN (2911

o '
T (0= A" FOR) - Lo =sinOX) #0533,

NIzat, _’#



g1 %

3 () MERNTE fo a0 K EF S kN FOS,
16900 = 5t AX) cos(AR) =5 10 (AXAAX) +s X-AX)Y (2§ 4e44")
= —.li Sh (ZKX)

TAEAN N fong N F EMBL L R 03,
dh A"y B
Jxh if(ﬁﬁ(x)}— EEd Zz Sin (2AX)] = e stn (2AX)

- ,'7_— (20" st (ZMH %_A) =2 A" sfh EA(” * B)}

Y\

= Zh"/'\h-{(ZX+%,\1-‘)
tLan 31’3”%5‘(&/40(){'@“:) AW =NX£%0  Ba)= by X+ho LE(hEEED)
Ao (B 0) RV (320 )10 543,

=0, 0=2""A" k=2 k=%

5.C)R % efrsi 1ZCIAZER p - R, A EOZE LY LA A H3 4
N5 F 3341 E52343A a1

h I h S\ e ! h
3@;]-0-;‘? {fmgm)'= 1s. ) Lon'sh p\(m—ﬁ)} £ Jin Lo
(' -1 smb< ()
THIN3 2 RE (50) 375 2A<]CHIEA" D3,
FHAE o< A< Vo A" BAAF /1D, 2 dHTo<A<,1=5 243,
1A A= NtEs Toc A< |\ 1571434

) 4 NS
f3(2:3) = 443 (3) =20
LAY EREZ BT S., ,
Wb AS LR B0 FOIALS,
(7)  YBAM CHShF i, 7




RY%

4.(1)54N3 X 50 &' B 3N FEROTCIRG F 32 XFD E51273,
gl:jé(e-sw:{ w50 AEd (1 )= 0

X SURS I SV FACORIONES, ﬂiﬁiquf Lo B 12143,
di As/ile ame
AKX~ Ade ~ - sh
3 R (24, 1) 1= x;uév}:v#}f 55(90)4;3/;‘4)4?/)17‘,&77539»—7(&}3
%‘i I- 059 1 - cosb=0- 6= 2":»»77\
X(o=Le) = g2 | A Ke=3x) =37+ B
FTNREEMITI L, NALSA % £NSY 10 E51- 113,

o1 = 2], o e ) =G o)
9= —X+37+2 |
'\Awowg#iﬂ N5 HA RENEI7E3,

2=-K+3R+2

$.(2) jﬁ-ﬁ«:’.z RIEHLICR 273345 BYLNp R 414 15451, NTETR 1A,
- sm
l Cos & =1
Fﬁ‘*g%‘ﬂz%‘g sho+us® =1/ ABREK F') Jpon (647 )=1 13,
U 5 (04%) = K - O+ = 6 >0 ') 0=00n o XIL3AN 0=0
N5k ZENRH KEKCR) T30 R N30 0= L713,
s _ sinp (1+cs0) _ 5B (Hewsh)  sinb(+wsh) |+ s (52)

K - sb (!va)(lﬂaSé) [—cs®® — Sin® s @ (—0)
O=72(-xn3mILC IR ML NBRE (-1, 1) L30T 13 ML 05 Ik
LZ Y=X-%+12

g, L, 1L, L Ly Nz 2 AT t#ii(‘ﬁ%€< %/:ioiiféhé‘f\sa
SR+ = M-y 4D e K=K e = RB12= B D

Wb A3 L1 Lo % £ 150 #5173,
(R\%+t1) »




REILL

4.(3) HEsicl- /Nnil B«%ﬁ?(l%‘/\ﬂ? ;t)/ ik

610 7| R w ] I K
1 Il Y el e

ol 7l (A2 (N[ 1 N[0
CHRERNMBENEREATICTFRNF 12753,

+A (%,2+2)
L1
Ly
I TN (Gl 1)
/ (%—,71) "
( N
/0 A 24 N\ o Vi

F@IEAC XA KORRI 5, P h R 5518 N B4 T, L kw3,
g ’;L(x)ﬂ')ikﬁ/jET(x)‘L%< X(EONPAEL (X=6-5m0) 1% 345 LA

,’)H;h AT o X (of
x) (xX) X
= 10 %)

7{79‘* X B
Yox = [ 2oook=46) (45) d
“AE I N3, R v

e Jx,s% Lo ofX = J 1( —(59)- (/-wsO)J@] (Ceas’O—ZwBH}Jp

=J:/l<”°’°” s 9+l)a[9 [—Lsmw 25/»«9+39] -/H’ﬂ

itmi;xm« Mrelily XA RGN R4 1, £ HH7,

e e ol o)
/4 +1K+3

ME EN54 D358t NBIERLL-1 \TLINT E N3 A
VN E512 753,

LSRN
Ft1 -l /




AOLY FRIE S I VA UESEE XL 3

oM = “t”z‘:*tg*‘-(:-uauu,

|-t - B
W‘;m C=(1-¢)C
‘A;«gmmWﬁﬂé»& P ESLE Y
MK = = (F)T - [(F)R 115y
=( ")a 1E+U-t)T
YN O GESLEEE Sh
W’= t-)R-tE+(H)E 7

S.(z)mﬁ@fawsuxmbfv 713,

fic,=0C- oM =T {U-0FHEY = (t-)d-(x+C
M" UMC = (- PUR-TUF +UT

MSM'»LOP EFNILR)FSMTRS,
OP = OM +MpP = [(I- t)a+t1;13+z(i")ua—tuz+u‘c'}'

=(|-t+tu-U) X+ (t-tu) § +uc

1L ER X 9.2 I F D Eor 1),
Y= [-t+tu-u  %=t-th  2Z2=U

IXEARD X+914. 79 h/zii 3o
X+d=1-U 7~




A%

5.3 AOMC(ZAL1E 2 BT 3L N33, l
c ECHAABC RN Z THY, RMH AR LN 2
N : 3543 B LI~ AABC t) 2 LD,
, REP) 17,1 SGMCHAABC FO) 35519,
@' @M LSRN MC L1433,

TIUMRERC = (W) chni DR = 0P el ) Rkt h<y
S o= L3, LA ENteHE TS,
K OB = 34 (@+ )= 3k |03+t R+U1)T]
0F = (|-t+u-Wa (- § +UT |
ERNTE I e eH S LT $5 2515343
'}k(’-f)= J<t4tu-u=0—€)(-u) »»+ 5hk=|-U (" 0£¢<]) (ﬁ\tﬂﬁé‘()
2k (-t)=n - U-W)(F) =1 -- - U= ()-t)(2-t) CN%E)
O=0F Y 13N 0) MR A F558490 OF N'e 219543 .00 K512 713,
0P = I-t+(t1) - -0/} 3 + -t (-] £ + {0/ T
= {(-t)/-0) R+ [ YA -0 V12 + {0 T |
WERS ORI Z0) X517 143,
0 =4 [(FOR+LE+(-O)

5.49) /bilzm :’#?{‘2435, L A K= 0. b C=0 , T = ?/z : /ﬂ’l‘[ﬂ:l 121 th13.

[0k |* = ELTF z("f) LRI TBA (-0 T+ )RR+ Y FI 4 (FYR -2

+ (- TR+ 1O R+ (-1 21
= 1o {300+ 2 = ($26¢+3) /(12 %4+4)
_ ot-13 _ /0
= 4"'——‘—-({-1)2 —?’1“'{3’—{—-(;?2——)—1
2240 S= o7 UhI N LT EATS AR £33,

[oR|%: = '73‘+/05+‘f='7(3+%)2+=3— 04t
23 s=—7 FUbS t= 2 0BYR|tRBAVES, (08iRL2¢475.)
WEBS |ok] ) RAMEHIZN F1- 713,

[l =5 , 4=%)




